If we know 2 X 6 =12, we also know 2 x 60 =120
Use this to complete the fact family.

Complete the fact families
2x60=120 [[_Jx[_J=[_J| for the calculations.

3x 30 =
-0 O0-0-0 =480
160+ 2=
Rosie has 240 cakes to sell. Completethefollowing: 3 [ J=12  ax[_]=20
She puts the same number of cakes in
each box and has no cakes left over. D x3 =15  8X |:| =24

Which of these boxes could she use?
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Alex has 20 sweets and shares them You have 30 counters.
between 5 friends. y.‘ *

A

Tommy has 20 sweets and shares them How many different ways can you put
between 10 friends. them into equal groups?

Whose friends will receive the most Write down all the possible ways.
sweets?

How do you know?



